Worksheet Maths 4™ ESO

SIMULTANEOUS EQUATIONS 2

Solve the following simultaneous equations:

1 y = x% —3x
y-2x+6=0

E+§:3

2) Xy
X+y=4
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SOLUTION

2 _ _ 2
l)y—x 3x LY 3x = x?-3x=2x-6=x*-5x+6=0
y-2x+6=0] y=2x-6
3-5y=2-3-6=6-6=0
= CONSISTENT INDEPENDENT SYSTEM
2—->y=2-2-6=4-6=-2
x=3,y=0

SOLUTION:
L N <x=2,y=—2

E+§:3 2y +3x = 3xy
_)

2) X 'y

}ey=4—x:>2(4—x)+3x=3x(4—x)
x+y=4

x+y=4

_11+y121-96 11+5

3x* -11x+8=0 > x = = —<3

6 6

2x+y=6 y=6-2x
3 6-2x=+/x+3=3-2x=+/x
)\/;—Y=—3}_>y=\/§+3}:> X=+X+3=
9

(3-2x) =(Vxf = 9-12x + 4x? —x:>4x2—13x+9—0—>x—<4

1
9 [9 9 3
3-2.2=-1253-Z2+> N
Check: 3—-2x = VX — 4 \/;% 272 N
3-2.1=4/1-53-2=1 VYes

CONSISTENT INDEPENDENT SYSTEM SOLUTION: x=1,y=4

3 X
S _ X_o X2 =
4) x y —ﬁgy x_3g$+y=2x—&:3Qx—$—x2=O
2x-y=3 XY=

x*-6x+9=0—->x=3=>y=6-3=3

CONSISTENT INDEPENDENT SYSTEM SOLUTION: x=3,y=3
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. _ 2
5) Y =X P | Y= e 3y Ax+2 X —x—220
y-4x-2=0, y=4x+2
2 [42+2=10
7Y 4 c)e2=2
x=2,y=10
CONSISTENT INDEPENDENT SYSTEM SOLUTION: K=l y=-2
12
x+y 5| B=2x+2y 2x+2y =5 1
Bxy =5 —losy==
D1 1 5[ Tayrax=bxy] Taxezy=bxy[ YO TRV
X y 2
5 2
2x+2y=5:>2x+;=5:>2x2+2=5x:>2x2—5x+2=0:>x= 1
2
; /L
y:—: 2
X2
x:2,y:%
CONSISTENT INDEPENDENT SYSTEM SOLUTION: 1
XZE/YZZ



